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TILAK MAHARASHTRA VIDYAPEETH, PUNE 
M. A. (PARANGAT) ECONOMICS    

EXAMINATION: JUNE - 2022 

THIRD SEMESTER 
 Subject: Economics of Labour - I (ECBCS 17-313)   

Date:  14/06/2022 Total marks:  60      Time: 10.00 am to 12.30 pm  
Instructions:  1) All questions are compulsory.     2) Figures to the right indicate full marks. 

Q. 1. Choose the correct answer from the given options. (05) 

1.      Demand for labour depends on  

 a) Willingness of labour to work b)Marginal productivity of labour   

 c) Demand and Supply and labour d) None of the above   

2.     With the increase in wages, supply of labour --------------  

 a) Decreases b) Increases  

 c) Remains Constant d)  None of the above  

3.     When the labour is paid in terms of goods rather than cash is called----------  

 a) Contract Wage b) Wage in Kind   

 c) Time Wage d) Piece Wage   

4.      Increase in cost of production leads to increase in prices, is known as ------------ 

inflation. 

 

 a) Demand Pull b) Cost Push  

 c) Market Push d) Currency pull  

5.     The labour market is in equilibrium when supply of labour  -----------demand  for it.  

 a) Equal to demand b) less than Demand   

 c) More than demand  d) Contrast to Demand  

   

Q. 2. Answer any three of the following questions in 100 words. (15) 

 1) Explain factors determining demand for labour.  

 2) Discuss the concept of labour market in brief.  

 3) Elaborate the concept of labour productivity.  

 4) State advantages of rationalization.  

 5) What are the various causes of labour mobility?  

   

Q. 3. Answer any one of the following question in 250 words. (10) 

 1) Discuss various types of discrimination.  

 2) Explain the relationship between inflation  and wages.   

   

Q. 4. Answer any two of the following question in 500 words. (30) 

 1) Discuss characteristics of the labor market in developed and developing countries.  

 2) What are the causes of low labour productivity in developing countries? Discuss 

measures to improve labour productivity. 
 

 3) What is discrimination? Explain direct and indirect effects of discrimination in 

detail. 
 

R/E (60:40) 

R-2016-17 till 2021-22 

E-2016-17 till 2019-20 
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_amR>r  énm§Va_amR>r  énm§Va_amR>r  énm§Va_amR>r  énm§Va     
l‘mMol‘mMol‘mMol‘mMo    AW©emñÌAW©emñÌAW©emñÌAW©emñÌ    ^mJ ^mJ ^mJ ^mJ ----    1111    (ECBCS 17-313)  

 gyMZm :  1) gd© àý gmoS>{dUo A{Zdm ©̀. gyMZm :  1) gd© àý gmoS>{dUo A{Zdm ©̀. gyMZm :  1) gd© àý gmoS>{dUo A{Zdm ©̀. gyMZm :  1) gd© àý gmoS>{dUo A{Zdm ©̀.     2) COdrH$S>rc A§H$ Ë`m àíZm§Mo JwU Xe©{dVmV.2) COdrH$S>rc A§H$ Ë`m àíZm§Mo JwU Xe©{dVmV.2) COdrH$S>rc A§H$ Ë`m àíZm§Mo JwU Xe©{dVmV.2) COdrH$S>rc A§H$ Ë`m àíZm§Mo JwU Xe©{dVmV.      

à. 1à. 1à. 1à. 1.... Imbr {Xboë`m Mma n`m©`m§n¡H$s `mo½` n`m©` {ZdS>m.Imbr {Xboë`m Mma n`m©`m§n¡H$s `mo½` n`m©` {ZdS>m.Imbr {Xboë`m Mma n`m©`m§n¡H$s `mo½` n`m©` {ZdS>m.Imbr {Xboë`m Mma n`m©`m§n¡H$s `mo½` n`m©` {ZdS>m.    (05)(05)(05)(05)    

1.      l‘mMr ‘mJUr .......... ¶m KQ>H$m§da Adb§~yZ AgVo.     

 A) ‘OwamMr H$m‘ H$aÊ¶mMr BÀN>m ~) ‘OwamMr gr‘m§V CËnmXH$Vm     

 H$) l‘mMr ‘mJUr Am{U nwadR>m S>) darbn¡H$s H$moUVohr Zmhr     

2. doVZmVrb dmT>rgmo~V l‘mMm nwadR>m ..........     

 A) KQ>Vmo  ~) dmT>Vmo     

 H$) pñWa amhVmo S>) darbn¡H$s H$moUVohr Zmhr     

3. Ooìhm ‘OwamMm ‘mo~Xbm amoI a¸$‘oEodOr dñVyÀ¶m ê$nmV {Xbm OmVmo Voìhm Ë¶mg .......... 
åhUVmV. 

    

     A) H§$ÌmQ>r doVZ  ~) dñVwê$n doVZ                         

 H$) g‘¶mZwgma doVZ S>) ZJmZwgma doVZ     

4. CËnmXZ IM© dmT>ë¶mZo Ooìhm qH$‘Vr dmT>rbm MmbZm {‘iVo Voìhm Ë¶mg .......... MbZ dmT> 
åhUVmV. 

    

 A) ‘mJUr ào[aV  ~) IM© ào[aV     

 H$) ~mOma ào[aV S>) MbZ ào[aV     

5. Ooìhm l‘ ~mOmamV l‘mMm nwadR>m hm l‘mMm AgVmo Voìhm .......... l‘ ~mOmamV g‘Vmob 
gmYbm OmVmo. 

    

 A) ‘mJUr EdT>m  ~) ‘mJUr nojm H$‘r     

 H$) ‘mJUr nojm OmñV S>) ‘mJUr À¶m {damoYr     

         

à. 2à. 2à. 2à. 2.... Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao 100 eãXmV {bhm.Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao 100 eãXmV {bhm.Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao 100 eãXmV {bhm.Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao 100 eãXmV {bhm.    (15(15(15(15))))    

    1) l‘mMr ‘mJUr R>adUmao KQ>H$ ñnï> H$am.     

    2) l‘ ~mOmamMr g§H$ënZm WmoS>³¶mV ñnï> H$am.     

    3) l‘mMr CËnmXH$Vm hr g§H$ënZm ñnï> H$am.     

    4) dmOdrH$aUmMo ’$m¶Xo gm§Jm.     

    5) l‘mÀ¶m J{VerbVoMr {d{dY H$maUo H$moUVr AmhoV.     

         

à. 3.à. 3.à. 3.à. 3. Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 250 eãXmV {bhm.Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 250 eãXmV {bhm.Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 250 eãXmV {bhm.Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 250 eãXmV {bhm.    (10(10(10(10))))    

 1) {d^oXmMo àH$ma ñnï> H$am.     

 2) MbZdmT> Am{U doVZ ¶mVrb ghg§~§Y ñnï> H$am.     

      

à. 4à. 4à. 4à. 4.... Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§MImbrbn¡H$s H$moUË¶mhr XmoZ àíZm§MImbrbn¡H$s H$moUË¶mhr XmoZ àíZm§MImbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 500 eãXmV {bhm.r CÎmao 500 eãXmV {bhm.r CÎmao 500 eãXmV {bhm.r CÎmao 500 eãXmV {bhm.    (30)(30)(30)(30)    

 1) {dH${gV Am{U {dH$gZerb XoemVrb l‘ ~mOmamMr d¡{eîQ>çm§Mr MMm© H$am.     

 2) {dH$gZerb XoemVrb l‘mÀ¶m H$‘r CËnmXH$VoMr H$maUo H$moUVr AmhoV? l‘mMr CËnmXH$Vm 
dmT>dÊ¶mÀ¶m Cnm¶m§Mr MMm© H$am. 

    

 3) {d^oX åhUOo H$m¶? {d ôXmMo àË¶j Am{U AàË¶j n[aUm‘ gImob ñnï> H$am.     

 


